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Chemistry 11
PERCENT COMPOSITION

It is sometimes useful to know the bercentage, by mass, of a particular
element within a chemical compound.
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The FORMULA for calculﬁting PERCENT COMPOSITION is :
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Example 1. What is the percent composition of EACH ELEMENT in place- .
Copper (1) Sulphide?  °. Cuf) - Ty /—”\\
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Example 2. What is the percent composition of IRON in
Iron (lll) chloride? [, % Cly
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Example 3. What is percent composition of WATER in
Copper (ll) Sulphate pentahydrate? ("“””5@1 5 KL O
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PERCENTAGE COMPOSITION

1. a)
b)
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2)
h)

80.0%, C, 20.07, H

44.07, Fe, 56.0%7, C,

34.47, Fe, 65.67, C.

40.07, C, 6.7%, H, 5137 O

40.17, Ca, 12.0%, C, 48.09, O

57.5%, Na, 40.0%, O, 2.5, H

27.3%, Ca, 48.3%, Cl. 2.77, H, 21.8%7, O
2827, N, 8.1%, H, 20.87, P, 43.07, O

60.87, Ag, 15.87, N, 3.47, H, 20.07, Cl |
62.17, C, 4.67, H, 12.87, N, 9.77, O, 10.8%, Cl
20.9%, Sn, 45.3%, S, 33.87, O

10.9%, N, 5.5%, H, 45.2%, Sn, 37.4%, O
20.07, C,33% H, 2137, N, 53.37, O

35.67, K, 17.0%, Fe, 21.97, C, 25.57 N

2457, . . . b) 36.17,
) 48.6%, e) 36.57,

54.8% k) 51.3%7,
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